
Exemple ... 

http://www.sensorsinc.com/data_sheets/SU640.asp







 = 0.7
D* = 6 10  cm.Hz /W
NEI = 4 10  ph/cm2/s
 = 350 e-
@  = 1.55 µm (E=1.3 10  J)
27 µm pixel pitch,  = 100 %
Tint = 16.3 ms 
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 = 350 e-  ->  NEP = 4 10  W
-> D = 2.54 10  /W
-> Spix = 7.3 10  cm2
Tint = 16.3 ms -> -> ∆f = 61 Hz
-> D* = 5.3 10   cm.Hz /W
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NEP = 4 10  W
S = 7.3 10  cm2
-> NEI = 5.5 10  W/cm2
E = 1.3 10  J
Nph = P/E -> NEI = 4.2 10  ph/cm2/s

-6
-10

-19

9

-15

frame rate 19 Hz == 1 pose / 53 ms
-> cadence pixel = 5.8 Mpx/s
NSTK = 650 000 e-
 = 350 e-  -> Dyn = 1857
12 bits -> 4096 niveaux 
-> 1 LSB == 160 e-


